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4 @Reasoningbybasantsir

There are ten persons namely L, M, N, O, P, Q, R, S, T and U
attending the meeting on either 15™ or 30th of January, March,
April, September and November L attends the meeting on 15th of a
month having 31 days. There are three persons attending the
meeting between L and P. N attends the meeting on 30th March. T
attends the meeting before S but after P. Neither M nor U attends
the meeting in January. M attends the meeting before U but not in
the same month. O attends the meeting two months before N.
There are two persons attending the meeting between S and P. S
does not attend the meeting in the month of September. R attends
the meeting in the month of April. Neither R nor U attends the
meeting on the 15th of any month.
qH AE AT L, M, N, O, P, Q, R, S, T 3R U =S, AT, 3T,
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There are ten persons namely L, M, N, O, P, Q, R, S, T and U
attending the meeting on either 15™ or 30th of January, March,
April, September and November L attends the meeting on 15th of a
month having 31 days. There are three persons attending the
meeting between L and P. N attends the meeting on 30th March. T
attends the meeting before S but after P. Neither M nor U attends
the meeting in January. M attends the meeting before U but not in
the same month. O attends the meeting two months before N.
There are two persons attending the meeting between S and P. S
does not attend the meeting in the month of September. R attends
the meeting in the month of April. Neither R nor U attends the
meeting on the 15th of any month.

Who attends the meeting immediately before O?

a. L

U
. Q
T
S
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There are ten persons namely L, M, N, O, P, Q, R, S, T and U
attending the meeting on either 15™ or 30th of January, March,
April, September and November L attends the meeting on 15th of a
month having 31 days. There are three persons attending the
meeting between L and P. N attends the meeting on 30th March. T
attends the meeting before S but after P. Neither M nor U attends
the meeting in January. M attends the meeting before U but not in
the same month. O attends the meeting two months before N.
There are two persons attending the meeting between S and P. S
does not attend the meeting in the month of September. R attends
the meeting in the month of April. Neither R nor U attends the
meeting on the 15th of any month.

Who attends the meeting on 15th September?

a. 0

. P
. N
. L
\Y|

o6 o

(¢



IBPS PO 2019

uf @Reasoningbybasantsir

There are ten persons namely L, M, N, O, P, Q, R, S, T and U
attending the meeting on either 15™ or 30th of January, March,
April, September and November L attends the meeting on 15th of a
month having 31 days. There are three persons attending the
meeting between L and P. N attends the meeting on 30th March. T
attends the meeting before S but after P. Neither M nor U attends
the meeting in January. M attends the meeting before U but not in
the same month. O attends the meeting two months before N.
There are two persons attending the meeting between S and P. S
does not attend the meeting in the month of September. R attends
the meeting in the month of April. Neither R nor U attends the
meeting on the 15th of any month.

How many persons attend the meeting between P and Q?

a. Two

b. Three

c. Five

d. One

e. Four
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There are ten persons namely L, M, N, O, P, Q, R, S, T and U
attending the meeting on either 15™ or 30th of January, March,
April, September and November L attends the meeting on 15th of a
month having 31 days. There are three persons attending the
meeting between L and P. N attends the meeting on 30th March. T
attends the meeting before S but after P. Neither M nor U attends
the meeting in January. M attends the meeting before U but not in
the same month. O attends the meeting two months before N.
There are two persons attending the meeting between S and P. S
does not attend the meeting in the month of September. R attends
the meeting in the month of April. Neither R nor U attends the
meeting on the 15th of any month.

In which month, does U attend the meeting?

a. April

b. September

c. November

d. March

e. January
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There are ten persons namely L, M, N, O, P, Q, R, S, T and U
attending the meeting on either 15™ or 30th of January, March,
April, September and November L attends the meeting on 15th of a
month having 31 days. There are three persons attending the
meeting between L and P. N attends the meeting on 30th March. T
attends the meeting before S but after P. Neither M nor U attends
the meeting in January. M attends the meeting before U but not in
the same month. O attends the meeting two months before N.
There are two persons attending the meeting between S and P. S
does not attend the meeting in the month of September. R attends
the meeting in the month of April. Neither R nor U attends the
meeting on the 15th of any month.

Who attends the meeting immediately after M?

a. R

L
.0
. Q
N
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There are seven members in a family— P, Q, R, J, F, G
and H. P and J are husband and wife. R is the only
brother of J. Q is the only daughter of P. R is the husband
of F. G is the mother of R. P is the daughter in law of H.
Teh IR W |Td |56 & - P, Q,R J,F, G SR H. P 3T J

ufa-ueit 81 R, J T TheA T | Q, P <hl SheATdT 92T 2l
R, F&TUR Y G, Riﬁm%lﬂl-’éHigra% 2
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There are seven members in a family— P, Q, R, J, F, G
and H. P and J are husband and wife. R is the only
brother of J. Q is the only daughter of P. R is the husband
of F. G is the mother of R. P is the daughter in law of H.
T UTRaR § HTd T28 T 3§ - P, Q,R J,F,G 3R H.PARJ

ufa-ueit 81 R, J T TheA T | Q, P &hl SheATdT 92T 2l
R, F&TUR Y G, Ra'ﬁm%lﬂlléﬂagra's' 2

If X is the brother of P, then what is the relation of X with
Q?

a. Maternal uncle

b. Son

¢. Husband

d. Son-in-law

e. Father
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There are seven members in a family— P, Q, R, J, F, G
and H. P and J are husband and wife. R is the only
brother of J. Q is the only daughter of P. R is the husband
of F. G is the mother of R. P is the daughter in law of H.
Teh IR W |Td |56 & - P, Q,R J,F, G SR H. P 3T J

ufa-ueit 81 R, J T TheA T | Q, P &hl SheATdT 92T 2l
R, F&TUR Y G, Ra'ﬁm%lﬂlléﬂagra% 2

How is R related to P?
a. Brother

b. Brother-in-law

c. Son

d. Father

e. Grandfather



4 @Reasoningbybasantsir

There are seven members in a family— P, Q, R, J, F, G
and H. P and J are husband and wife. R is the only
brother of J. Q is the only daughter of P. R is the husband
of F. G is the mother of R. P is the daughter in law of H.
Teh IR W |Td |56 & - P, Q,R J,F, G SR H. P 3T J

ufa-ueit 81 R, J T TheA T | Q, P <hl SheATdT 92T 2l
R, F&TUR Y G, Riﬁm%lﬂl-’éHE(ﬁ)ra% 2
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There are eight persons A-H sitting on a rectangular table
but not necessarily in the same order. Four of them are
sitting on the middle side of the table facing inside and rest
of them are sitting on the corners of the table facing
outside. There is one person sitting between E and the
person who is sitting 2nd to the right of A. H who is the
neighbour of G, is facing C. D is not an immediate
neighbor of A. A is sitting 3" to the left of B. H is not
facing outside of the table. E is sitting in the middle on the

longer side of the table. D is not a neighbor of C.
Teh ATIATRT Ul U TS STk A-H 3 & ol Sl Tgl
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There are eight persons A-H sitting on a rectangular table
but not necessarily in the same order. Four of them are
sitting on the middle side of the table facing inside and rest
of them are sitting on the corners of the table facing
outside. There is one person sitting between E and the
person who is sitting 2nd to the right of A. H who is the
neighbour of G, is facing C. D is not an immediate
neighbor of A. A is sitting 3" to the left of B. H is not
facing outside of the table. E is sitting in the middle on the
longer side of the table. D is not a neighbor of C.

Which of the following statements is false?

a. A is sitting opposite to E

b. C is sitting to the immediate right of G

c. G is sitting to the immediate left of H

d. F is sitting 3rd to the right of E

e. C is sitting 3rd to the left of D
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There are eight persons A-H sitting on a rectangular table
but not necessarily in the same order. Four of them are
sitting on the middle side of the table facing inside and rest
of them are sitting on the corners of the table facing
outside. There is one person sitting between E and the
person who is sitting 2nd to the right of A. H who is the
neighbour of G, is facing C. D is not an immediate
neighbor of A. A is sitting 3" to the left of B. H is not
facing outside of the table. E is sitting in the middle on the
longer side of the table. D is not a neighbor of C.

Which of the following are sitting at the corners?

a. GDBA

b. FBDA

c. GDFC

d. GDBF

e. None of these
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There are eight persons A-H sitting on a rectangular table
but not necessarily in the same order. Four of them are
sitting on the middle side of the table facing inside and rest
of them are sitting on the corners of the table facing
outside. There is one person sitting between E and the
person who is sitting 2nd to the right of A. H who is the
neighbour of G, is facing C. D is not an immediate
neighbor of A. A is sitting 3" to the left of B. H is not
facing outside of the table. E is sitting in the middle on the
longer side of the table. D is not a neighbor of C.

Which of the following is true?

a. G is sitting opposite to E

b. B is sitting to the immediate left of H

c. D and F are sitting at the corners

d. F and E are sitting at the corners

e. None of these
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There are eight persons A-H sitting on a rectangular table
but not necessarily in the same order. Four of them are
sitting on the middle side of the table facing inside and rest
of them are sitting on the corners of the table facing
outside. There is one person sitting between E and the
person who is sitting 2nd to the right of A. H who is the
neighbour of G, is facing C. D is not an immediate
neighbor of A. A is sitting 3" to the left of B. H is not
facing outside of the table. E is sitting in the middle on the
longer side of the table. D is not a neighbor of C.

What is the position of A with respect to D?

a. A is sitting 4th to the right of D

b. A is sitting to the immediate left of D

c. A Is sitting to the immediate right of D

d. A is sitting 3rd to the right of D

e. None of these
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There are eight persons A-H sitting on a rectangular table
but not necessarily in the same order. Four of them are
sitting on the middle side of the table facing inside and rest
of them are sitting on the corners of the table facing
outside. There is one person sitting between E and the
person who is sitting 2nd to the right of A. H who is the
neighbour of G, is facing C. D is not an immediate
neighbor of A. A is sitting 3" to the left of B. H is not
facing outside of the table. E is sitting in the middle on the
longer side of the table. D is not a neighbor of C.

Who is sitting to the immediate right of B?

a. E

b. F
c. C
d. G
e. None of these
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In the given number ‘85274369°, if all the odd digits are
decreased by 1 and all the even digits are decreased by 2,
then what would be the sum of the digits which are not
repeated in the new number formed after rearrangement?

3 T3 WEAT '85274369' |, Afe Al TawH 3ieht i 1 & 7T
fea ST ofi) it @ Sieht i 2 W "er fean s, av

YA EET o |18 A1 73 SEaT | e T T Sfehi T AR
T T2

(a) 10

(b) 14

(c) 2

(d)8

(e) None of these
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Statements:

Some key is chain.
Some chain is plant.
All plant is lock.

Conclusion:
I: No key is lock is a possibility.
I1: All lock is plant.

(a) If only conclusion I follows.

(b) If only conclusion II follows.

(¢) If either conclusion I or II follows.
(d) If neither conclusion I nor II follows.
(e) If both conclusions I and II follow.
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Statements:

Only a few story is real.
No real is drama.

No drama is news.

Conclusion:
I: Some story is not real.
II: Some news can be real.

(a) If only conclusion I follows.

(b) If only conclusion II follows.

(¢) If either conclusion I or II follows.
(d) If neither conclusion I nor II follows.
(e) If both conclusions I and II follow.
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Statements:

Only pen is city.

Some pen is black.

Only a few office is black.

Conclusion:
I: Some black is not pen.
I1: All office is pen.

(a) If only conclusion I follows.

(b) If only conclusion II follows.

(¢) If either conclusion I or II follows.
(d) If neither conclusion I nor II follows.
(e) If both conclusions I and II follow.
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Nine persons i.e., H, I, J, K, L, M, B, P and T visit three
different cities viz. Mumbai, Pune and Bangalore but not
necessarily in the same order. At least two persons but not
more than four persons visit the same city. H visits with T.
T does not visit Pune. K visits Mumbai. B visits neither
Pune nor with K. J visits only with P. More than three
persons visit Mumbai. L. and I visit together. M does not
visit with 1.

it Tk AT H, I, J, K, L, M, B, P 3R T d19 3TeT-3TeqT
mwaﬁ'{raﬂ%%maé w&raﬁiéﬂﬁﬁ'{ﬁﬁquﬁ%ﬁ
Sﬁfﬂﬁg‘rlw@rwa‘r—qﬁsﬁﬁmwﬁaﬁm—qﬁﬁ
Uk B I H qTAT 21 i 21 H FIT&T?I'I?IT%I T gur T}
AT 2 Knaéa»-raﬁ'{raﬂm% B 1 qr 3R 7 € K o /e
ATAT 21 J haet P o OT ATdT 2 /i ailf%ﬁ‘&lﬁﬁ Gn%r
21 TS 3R H Teh AT ITAT A 2l M %smarﬂﬁ
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Nine persons i.e., H, I, J, K, L, M, B, P and T visit three
different cities viz. Mumbai, Pune and Bangalore but not
necessarily in the same order. At least two persons but not
more than four persons visit the same city. H visits with T.
T does not visit Pune. K visits Mumbai. B visits neither
Pune nor with K. J visits only with P. More than three
persons visit Mumbai. L. and I visit together. M does not
visit with 1.

Who among the following visits Pune?

(a) L

(b) P

(c)dJ

dM

(e) Both (b) and (¢)
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Nine persons i.e., H, I, J, K, L, M, B, P and T visit three
different cities viz. Mumbai, Pune and Bangalore but not
necessarily in the same order. At least two persons but not
more than four persons visit the same city. H visits with T.
T does not visit Pune. K visits Mumbai. B visits neither
Pune nor with K. J visits only with P. More than three
persons visit Mumbai. L. and I visit together. M does not
visit with 1.

Who among the following visits with K?

(a) H

(b)) T

(¢c) L

(d) Both (a) and (b)

(e) None of these
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Nine persons i.e., H, I, J, K, L, M, B, P and T visit three
different cities viz. Mumbai, Pune and Bangalore but not
necessarily in the same order. At least two persons but not
more than four persons visit the same city. H visits with T.
T does not visit Pune. K visits Mumbai. B visits neither
Pune nor with K. J visits only with P. More than three
persons visit Mumbai. L. and I visit together. M does not
visit with 1.

Four among the following five are same in a certain
manner and related to a group, who among the following
does not belong the group?

(a) K

(b)B

oM

dT

(e) H
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Nine persons i.e., H, I, J, K, L, M, B, P and T visit three
different cities viz. Mumbai, Pune and Bangalore but not
necessarily in the same order. At least two persons but not
more than four persons visit the same city. H visits with T.
T does not visit Pune. K visits Mumbai. B visits neither
Pune nor with K. J visits only with P. More than three
persons visit Mumbai. L. and I visit together. M does not
visit with 1.

Which among the following pair is incorrect as per the
data given?

(a) I-L

(b) P-J

(¢c) L-M

(d) T-K

(e) H-M
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Fourteen persons viz. A, B,C,D, P, Q, R, S, K, L, M, N, Y and Z sit
in two parallel rows (but not necessarily in the same order) in such
a way that seven persons sit in each row. A, B, P, Q, K, L and Y sit
in row 1 and face north while C, D, R, S, M, N and Z sit in row 2
and face south. The persons in row 1 sit exactly opposite to the
persons sit in row 2. Y sits diagonally opposite to Z. One person sits
between Z and R. P faces R and sits immediate right of A. The
number of persons sit between Y and A is same as the number of
persons sit to the right of M. B sits second to the right of the one
who faces R. Three persons sit between B and Q. C sits diagonally

opposite to Q. C and D are immediate neighbours. N faces K.
aga'g—qﬁsami?rABCDPQ,RSKLMNYaﬁTZﬁ

mmﬁ@mmmﬁswmﬁ%wwaﬁﬁs
T Sk T3 8 Uk Ukl A, B, P, Q, K, L 3R Y Ufth 1 H 33 & 3R
wﬁaﬁ'{waﬂ%éﬁs%mﬁs C,D,R,S$, M 2
& 371 gferuT T 3R & Lok 93 T Ufth 1 ¥ 93 =afv ufw 2 § 99
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Fourteen persons viz. A, B,C,D, P, Q, R, S, K, L, M, N, Y and Z sit
in two parallel rows (but not necessarily in the same order) in such
a way that seven persons sit in each row. A, B, P, Q, K, L and Y sit
in row 1 and face north while C, D, R, S, M, N and Z sit in row 2
and face south. The persons in row 1 sit exactly opposite to the
persons sit in row 2. Y sits diagonally opposite to Z. One person sits
between Z and R. P faces R and sits immediate right of A. The
number of persons sit between Y and A is same as the number of
persons sit to the right of M. B sits second to the right of the one
who faces R. Three persons sit between B and Q. C sits diagonally
opposite to Q. C and D are immediate neighbours. N faces K.

Who among the following faces S?

(a@P

(b) L

(c) A

(dB

(e) None of these
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Fourteen persons viz. A, B,C,D, P, Q, R, S, K, L, M, N, Y and Z sit
in two parallel rows (but not necessarily in the same order) in such
a way that seven persons sit in each row. A, B, P, Q, K, L and Y sit
in row 1 and face north while C, D, R, S, M, N and Z sit in row 2
and face south. The persons in row 1 sit exactly opposite to the
persons sit in row 2. Y sits diagonally opposite to Z. One person sits
between Z and R. P faces R and sits immediate right of A. The
number of persons sit between Y and A is same as the number of
persons sit to the right of M. B sits second to the right of the one
who faces R. Three persons sit between B and Q. C sits diagonally
opposite to Q. C and D are immediate neighbours. N faces K.

Who among the following sits third to the left of L.?

(a) Q

(b) A

P

dK

eY



Fourteen persons viz. A, B,C,D, P, Q, R, S, K, L, M, N, Y and Z sit
in two parallel rows (but not necessarily in the same order) in such
a way that seven persons sit in each row. A, B, P, Q, K, L and Y sit
in row 1 and face north while C, D, R, S, M, N and Z sit in row 2
and face south. The persons in row 1 sit exactly opposite to the
persons sit in row 2. Y sits diagonally opposite to Z. One person sits
between Z and R. P faces R and sits immediate right of A. The
number of persons sit between Y and A is same as the number of
persons sit to the right of M. B sits second to the right of the one
who faces R. Three persons sit between B and Q. C sits diagonally
opposite to Q. C and D are immediate neighbours. N faces K.

What is the position of M with respect to D?

(a) Immediate right

(b) Immediate left

(¢) Third to the left

(d) Second to the left

(e) Second to the right
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Fourteen persons viz. A, B,C,D, P, Q, R, S, K, L, M, N, Y and Z sit
in two parallel rows (but not necessarily in the same order) in such
a way that seven persons sit in each row. A, B, P, Q, K, L and Y sit
in row 1 and face north while C, D, R, S, M, N and Z sit in row 2
and face south. The persons in row 1 sit exactly opposite to the
persons sit in row 2. Y sits diagonally opposite to Z. One person sits
between Z and R. P faces R and sits immediate right of A. The
number of persons sit between Y and A is same as the number of
persons sit to the right of M. B sits second to the right of the one
who faces R. Three persons sit between B and Q. C sits diagonally
opposite to Q. C and D are immediate neighbours. N faces K.

Who among the following sits fourth to the right of the one who
faces Z.?

(@Y

(b) P

(o) K

(d) L

(e)B



IBPS PO 2019 Fourteen persons viz. A, B,C,D, P, Q, R, S, K, L, M, N, Y and Z sit
in two parallel rows (but not necessarily in the same order) in such
a way that seven persons sit in each row. A, B, P, Q, K, L and Y sit
in row 1 and face north while C, D, R, S, M, N and Z sit in row 2
and face south. The persons in row 1 sit exactly opposite to the
persons sit in row 2. Y sits diagonally opposite to Z. One person sits
between Z and R. P faces R and sits immediate right of A. The
number of persons sit between Y and A is same as the number of
persons sit to the right of M. B sits second to the right of the one
who faces R. Three persons sit between B and Q. C sits diagonally
opposite to Q. C and D are immediate neighbours. N faces K.

Four among the following five are alike in a certain way and
related to a group, who among the following does not belong to the
group?

(a) Z

(b) C

(©) Q

(dR

()Y

>
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